INSTALLATION NOTES:

1. ONE (1) INSTALLATION ANCHOR IS REQUIRED AT EACH ANCHOR
LOCATION SHOWN.

2. THE NUMBER OF INSTALLATION ANCHORS DEPICTED IS THE MINIMUM
NUMBER OF ANCHORS TO BE USED FOR PRODUCT INSTALLATION OF
THE MAXIMUM SIZE LISTED.

3.INSTALL INDIVIDUAL INSTALLATION ANCHORS WITHIN A TOLERANCE OF
+1/2 INCH THE DEPICTED LOCATION & SPACING IN THE ANCHOR
LAYOUT DETAILS (I.E., WITHOUT CONSIDERATION OF TOLERANCES).
TOLERANCES ARE NOT CUMULATIVE FROM ONE INSTALLATION
ANCHOR TO THE NEXT.

4. SHIM AS REQUIRED AT EACH INSTALLATION ANCHOR WITH LOAD
BEARING SHIM(S). MAXIMUM ALLOWABLE SHIM STACK TO BE 1/4
INCH. SHIM WHERE SPACE OF 1/16 INCH OR GREATER OCCURS.
SHIM(S) SHALL BE CONSTRUCTED OF HIGH DENSITY PLASTIC OR
BETTER.

5. NAIL FIN INSTALLATION: FOR INSTALLATION INTO WOOD FRAMING
USE #8 WOOD SCREWS OF SUFFICIENT LENGTH TO ACHIEVE 1-1/2 INCH
MINIMUM EMBEDMENT INTO WOOD SUBSTRATE

6. NAIL FIN INSTALLATION: FOR INSTALLATION INTO METAL STUD USE #8
GRADE 5 SELF-TAPPING SCREWS OF SUFFICIENT LENGTH TO ACHIEVE A
MINIMUM OF 3 THREADS PENETRATION BEYOND METAL WALL.

7. THROUGH FRAME INSTALLATION: FOR INSTALLATION INTO WOOD
FRAMING USE #8 WOOD SCREWS OF SUFFICIENT LENGTH TO ACHIEVE
1-1/2 INCH MINIMUM EMBEDMENT INTO WOOD SUBSTRATE.

8. THROUGH FRAME INSTALLATION: FOR INSTALLATION THROUGH 1X
BUCK TO CONCRETE/MASONRY, OR DIRECTLY INTO
CONCRETE/MASONRY, USE 3/16 INCH DIAMETER ITW TAPCONS OF
SUFFICIENT LENGTH TO ACHIEVE 1-1/4 INCH MINIMUM EMBEDMENT.
INSTALLATION SHALL MAINTAIN MIN. 2 INCH EDGE DISTANCE.

9. THROUGH FRAME INSTALLATION: FOR INSTALLATION INTO METAL
STUD USE #8 GRADE 5 SELF-TAPPING SCREWS OF SUFFICIENT LENGTH
TO ACHIEVE A MINIMUM OF 3 THREADS PENETRATION BEYOND METAL
WALL.

10. MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDE WALL
FINISHES, INCLUDING BUT NOT LIMITED TO STUCCO, FOAM, BRICK
VENEER, AND SIDING.

11. INSTALLATION ANCHORS AND ASSOCIATED HARDWARE MUST BE
MADE OF CORROSION RESISTANT MATERIAL OR HAVE A CORROSION
RESISTANT COATING.

12.FOR HOLLOW BLOCK AND GROUT FILLED BLOCK, DO NOT INSTALL
INSTALLATION ANCHORS INTO MORTAR JOINTS. EDGE DISTANCE IS
MEASURED FROM FREE EDGE OF BLOCK OR EDGE OF MORTAR JOINT
INTO FACE SHELL OF BLOCK.

13. INSTALLATION ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH
ANCHOR MANUFACTURER'S INSTALLATION INSTRUCTIONS, AND
ANCHORS SHALL NOT BE USED IN SUBSTRATES WITH STRENGTHS LESS
THAN THE MINIMUM STRENGTH SPECIFIED BY THE ANCHOR
MANUFACTURER.

14. INSTALLATION ANCHOR CAPACITIES FOR PRODUCTS HEREIN ARE
BASED ON SUBSTRATE MATERIALS WITH THE FOLLOWING PROPERTIES:
A. WOOD - MINIMUM SPECIFIC GRAVITY OF 0.55.

B. CONCRETE -MINIMUM COMPRESSIVE STRENGTH OF 3000 PSI.

C. GROUT-FILLED CMU- UNIT STRENGTH CONFORMS TO ASTM C-90
WITH MINIMUM COMPRESSIVE STRENGTH OF 2000 PSI AND GROUT
CONFORMS TO ASTM C 476, MINIMUM GROUT COMPRESSIVE
STRENGTH OF 2000 PSI.

D. HOLLOW BLOCK CMU - UNIT STRENGTH CONFORMS TO ASTM C-90
WITH MINIMUM COMPRESSIVE STRENGTH OF 2000 PSI.

E. STEEL - MINIMUM YIELD STRENGTH OF 33 KSI. MINIMUM WALL
THICKNESS OF 47.8 MIL (0.0478" or 18 GAUGE). MIN. 1/2" EDGE
DISTANCE.

CROFT, LLC

SERIES 4400/4440 PICTURE WINDOW

GENERAL NOTES:

1. THE PRODUCT SHOWN HEREIN IS DESIGNED AND

MANUFACTURED TO COMPLY WITH THE 5TH EDITION (2014)
FLORIDA BUILDING CODE (FBC), EXCLUDING HVHZ AND HAS BEEN
EVALUATED ACCORDING TO THE FOLLOWING:

¢  AAMA/WDMA/CSA 101/1.5.2/A440-08

ADEQUACY OF THE EXISTING STRUCTURAL CONCRETE/MASONRY

AND 2X FRAMING AS A MAIN WIND FORCE RESISTING SYSTEM

CAPABLE OF WITHSTANDING AND TRANSFERRING APPLIED
PRODUCT LOADS TO THE FOUNDATION IS THE RESPONSIBILITY OF
THE ENGINEER OR ARCHITECT OF RECORD FOR THE PROJECT OF
INSTALLATION.

. 2X BUCKS (WHEN USED) SHALL BE DESIGNED AND ANCHORED TO

PROPERLY TRANSFER ALL LOADS TO THE STRUCTURE. BUCK
DESIGN AND INSTALLATION IS THE RESPONSIBILITY OF THE
ENGINEER OR ARCHITECT OF RECORD FOR THE PROJECT OF
INSTALLATION.

. 2X WOOD STUDS SHALL BE ATTACHED TO FULL LENGTH OF

FRAME WHEN USED INSIDE METAL FRAMING AS STIFFENERS.
WOOD STIFFENERS SHALL BE DESIGNED AND ANCHORED TO
PROPERLY TRANSFER ALL LOADS TO THE STRUCTURE. STIFFENER
DESIGN AND INSTALLATION IS THE RESPONSIBILITY OF THE
ENGINEER OR ARCHITECT OF RECORD FOR THE PROJECT OF
INSTALLATION.

THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC

. AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC

SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

APPROVED IMPACT PROTECTIVE SYSTEM IS REQUIRED TO

PROTECT THIS PRODUCT IN AREAS REQUIRING IMPACT

RESISTANCE.

WINDOW FRAME MATERIAL: ALUMINUM 6063 T-5

. GLASS SHALL MEET ASTM E 1300-04 GLASS CHART

REQUIREMENTS. SEE SHEET 3 FOR GLAZING DETAIL.

. DESIGNATIONS "X" AND "O" STAND FOR THE FOLLOWING:

X: OPERABLE PANEL
O: FIXED PANEL

TABLE OF CONTENTS

SHEET

REVISION

SHEET DESCRIPTION

GENERAL & INSTALLATION NOTES

ELEVATIONS

NAIL FIN SECTIONS & GLAZING DETAILS

HDlw ||~

B
B
B
B

THROUGH FRAME SECTIONS & COMPONENTS

WINDOW DESIGN PRESSURE TABLE

SIZE MAX.DP | IMPACT RATING
72X72 +50/-50 PSF| NON-IMPACT
96 X 60 +50/-50 PSF| NON-IMPACT

Digitally signed by Hermes F. Norero, P
Reason: | am approving this document
Date: 2016.04.10 17:19:35 -04'00'

FL11345

at 1929

chgr-‘r

P.O. BOX 826

MCCOMB, MS 39649
PH:  601-684-6121 FX: 601-783-3188

o
™ 3
223 | y¥st
< Z 58 3
3Q E H2Q X
SO < >0 =
Sz 43 na® 3
g8 = St
Iz £ oxI™
0w a T«
0w Zl— D<U"L
wa &0 w
=D Z O
odpF < 3 W o
e 2 > Z<a
Nl < a HH<§
a o oz a
w o _|<(Hox
Z w HDZ"’
w 8 < 2558
3 o W o
F b R
P g@m x
ZIEC)
w — [
= o)
< |2]3
Te)
[a] 08
IR
> | =
a =3
Z ol
D |
@) g
H| 2 |elx
w o| O
'_—_' N
Il o |OfO
> E‘ |+
() [alWa
||' V) | w
wlF|E
|8 |<|x
[aRWa]
al|la
oD
Q |<|a
Zn LA

AN

\\\\Q\O * Hgg' ,,ﬂ/(/

LI TTIEAAMN




ot 1939

chgr-‘r

P.O. BOX 826
MCCOMB, MS 39649

UNIT MAX UNIT MAX PH:  601-684-6121 FX: 601-783-3188
WIDTH 72.00" WIDTH 96.00"

D.L.O. MAX. D.L.O. MAX.
WIDTH 70.125" WIDTH 94.125"

2.00" MAX. 2.00" MAX.
FROM CORNERS FROM CORNERS

oLo (Y N

UNIT

YA (= o) max, max A/ ALY
UNIT D.L.OW W HEIGHT HEIGHT

MAX.  MAX. 60.00"  57.50"

H7Engg"T l;%IfZI;T 12.00" MAX. O.C.

12.00" MAX. O.C. I @ JAMBS TYP.
r @ JAMBS TYP.

FX: (954) 744-4738

SERIES 4400/4440
PICTURE WINDOWS
ELEVATIONS

DANIA BEACH, FL 33004

PH: (954) 399-8478

398 E. DANIA BEACH BLVD., #338

TITLE:

BY | DATE

Lms|03.08.16] 1) BUILDING DROPS, INC.

MTJ]|05.10.13] PREPARED BY:

74

' T
2.00" MAX.
- - = = = = a ‘a FROM CORNER
BV EY -- A
q |l 200" max. 12.00" MAX. O.C

FROM CORNERS INSTALLATION
ANCHORS @ HEAD & SILL TYP.
12.00" MAX. O.C.

INSTALLATION @ HEAD & SILLTYP.

ANCHORS

REVISIONS

DESCRIPTION
UPDATED TO 2010 FBC
UPDATED TO 2014 FBC

ELEVATION ELEVATION

PICTURE WINDOW 72"X72" PICTURE WINDOW 96"X60"

ANI; BEA

’:%E;JR]DA, o> "N, 7897
SRy OF AUINDAGA !

Iin



2X WOOD BUCK
BY OTHERS

FLASHING BY OTHERS

EXTERIOR FINISH
BY OTHERS

PERIMETER
SEALANT
BY OTHERS

SEE 6LAZING /\

DETAIL, SHEET 3

EXTERIOR

11/2" MIN. EMBEDMENT

#8 WOOD SCREW
INSTALLATION ANCHOR

—~——5/8" O.A. INSULATED GLASS

Eat 1920

anq:T

P.O. BOX 826
MCCOMB, MS 39649

PH: 601-684-6121 FX: 601-783-3188

3/4" MIN. EDGE
f DISTANCE

1

4
/\ #6 x 5/8"

TEK SCREW

INTERIOR

A\ VERTICAL SECTION

\3/

SEE GLAZING
DETAIL, SHEET 3

PERIMETER
SEALANT
BY OTHERS

2X WOOD BUCK
BY OTHERS

EXTERIOR FINISH
BY OTHERS

CAULK BETWEEN
FLANGE & 2X
WOOD BUCK

EXTERIOR

FIN INSTALLATION
2X WOOD BUCK

INTERIOR

#6 x 5/8"
TEK SCREW

f

— 1/4" MAX. SHIM

r 1/4" MAX. SHIM

f

/B VERTICAL SECTION

#8 WOOD SCREW
INSTALLATION ANCHOR

\3/

FIN INSTALLATION
2X WOOD BUCK

b 374" mIN. EDGE
DISTANCE

—11/2" MIN. EMBEDMENT

METAL SUBSTRATE BY OTHERS
#8 SELF-DRILLING GRADE 5 \

EXTERTOR /

\ INTERIOR
$

GLAZING MIN. GLASS

SILICONE BITE 1/2"
GLAZING DETAIL

NOTE:

ALL GLAZING CONFIGURATIONS SHALL COMPLY
WITH SAFETY GLAZING REQUIREMENTS
OUTLINED IN CURRENT FBC.

GLAZING THICKNESS TYPE SHALL COMPLY WITH
ASTM E1300

3/4" MIN. EDGE
DISTANCE

——

R 174" MAX. SHIM

INTERIOR
3 THREAD PENETRATION
BEYOND METAL FRAME

#6 x 5/8"
i _ TEK SCREW
1 —

z
SHEATHING LT AT /

BY OTHERS

CAULK BETWEEN FIN &
SHEATHING
EXTERIOR FINISH

BY OTHERS

INSTALLATION ANCHOR \
Il

SEE GLAZING
DETAIL, SHEET 3

EXTERIOR

PERIMETER SEALANT
BY OTHERS

FIN INSTALLATION
STEEL STUD

/C\ HORIZONTAL SECTION
3/

&
™ 3
o oHRos &
gg Z 293
+9 vy HOg X
39 2+ F o™ g
= a o
Iz EL| ozkE
nww B0 T
wae No w
Ho zzZ |, ©af
GE ER]S Z2<ao §
N 4 < a1} HH<°°
=slo 2%z 3
Z 3 o HD(;-\
" o . S
w < puwo Y
) a )
F [ged s
'-_—' a ™ a
™m | O
w ==
F Jo|x
< — O
10
[a] 3 8
IERED)
> e
a |=|3
Z ol
@) g
Tl T
= FAEIE
U) o| o
'_—_' NN
|l & |O|O
> '&' |+
8] [aRWa)
V) W w
Wil o | e
Xl ol<|<
[aRWa)
ala
N )
)
Z\\fﬁ””ll.

GH 'm.JD.s(gs
RO,

T

SESR
= ) EC E.'
E W SR
- a "ﬁ
2% i
’/,/ \9/7, PRO*(_%\‘E
,,llll'.* \\ %
= E
; J1lz =) p¥2 LIL S "Z'
: X
SRR e
G #:

SHEET: 3 OF 4



CONCRETE/ MASONRY
BY OTHERS

CAULK BETWEEN
CONCRETE/ MASONRY
& 2X WOOD BUCK

BY OTHERS

2X WOOD BUCK
BY OTHERS

EXTERIOR FINISH
BY OTHERS

PERIMETER SEALANT
BY OTHERS

EXTE

3/4" MIN. EDGE

DISTANCE

\
eene

SEE GLAZING
DETAILS, SHEET 3

#8 WOOD SCREW
INSTALLATION
ANCHOR

— 11/2" MIN. EMBEDMENT

/D\ VERTICAL SECTION

\4/

SEE GLAZING

DETAILS,

SHEET 3 _\

EXTERIOR

PERIMETER SEALANT _
BY OTHERS

EXTERIOR FINISH _|

BY OTHERS

PRECAST SILL —.::.:f

BY OTHERS

3/16" ITW TAPCON -~ |

INSTALLATION
ANCHOR

1/4" MAX.
SHIM SPACE
INTERIOR
THROUGH FRAME INSTALLATION
2X WOOD BUCK
INTERIOR 14" mAX.
SHIM SPACE
a - 4 J
R
A4 "
4 | 11/4" MIN.
; : ' EMBEDMENT
2" MIN.

! EDGE DISTANCE

/E\ VERTICAL SECTION

\4/

THROUGH FRAME INSTALLATION
CONCRETE/MASONRY

FRAME HEAD
ALUMINUM
W/ FIN
1.93"
2.22"

2.23"

e

FRAME HEAD
ALUMINUM
W/0 FIN

0.94" %FI'W

2.22"

FRAME SILL
ALUMINUM

FRAME SILL
ALUMINUM
W/0 FIN

FRAME JAMB 6LAZING BEAD
ALUMINUM ALUMINUM
w/ FIN
"
2 b 049
219" L “ L 044"
FRAME JAMB
ALUMINUM
W/0 FIN

NOTE:

COMPONENTS MAY BE USED IN
THERMALLY-BROKEN OR
UNTHERMALLY-BROKEN APPLICATIONS.

METAL SUBSTRATE BY OTHERS

3/4" MIN. EDGE

DISTANCE _;

#8 SELF-DRILLING GRADE 5
INSTALLATION ANCHOR

———1/4" MAX. SHIM
7

3 THREAD PENETRATION

"~ BEYOND METAL FRAME

2 INTERIOR

N

/\ SEE GLAZING
DETAILS, SHEET 3

EXTERIOR
SHEATHING —_—
BY OTHERS
PERIMETER SEALANT
EXTERIOR FINISH BY OTHERS
BY OTHERS
/F\ HORIZONTAL SECTION
W THROUGH FRAME INSTALLATION
STEEL STUD

st 1920

CFII‘:_IJ:T

P.O. BOX 826
MCCOMB, MS 39649

PH:  601-684-6121 FX: 601-783-3188

&
0 28
o ) Y
g%z 2 :gl
Bgﬂm na"y
of Ok @, 8
= w a o
Iz nz oxw
o w2 ST
0w EZ D(QLL
we O w2
H>D d% .. k‘)m'—u
V)I—IIU (2} HH(%
2 _\(ZO\
0 W B5ps 2
.. & o S5 =< g
w X < puwo L
F P & o =
X ..
= g 8
M [ O
w ==
F Jo |
<< — | O
0
[a] 3 8
SR
> | E
a |=|3
Z olo
|
o g i
| Z2 12|
) O |o|o
l:_‘ N | N
] o |O|O
: 'D—" =+
() [aliWa)
V) W w
Wil o e
Xl o l<|<
[alWa)
al|la
DD
o}
Z\\j\ﬁ””ll.

GH 'm.Jo.e@}s
ATy

TN

SN
= < g
- AL
=% Py
- LS
< Z .@@._»
2 oL e

,,I/I:. x \\g\%
el BN
welaylaz|Ye
<8RR E|SE

- I
2312 IS |V

G #:

SHEET: 4 OF 4




		2016-04-10T17:19:35-0400
	Hermes F. Norero, P.E.
	I am approving this document




